
1 -1pc 2 -1pc 3 -2pcs

A-18pcs B-6pcs

M6x35

C-4pcs D-6pcs

M8x35

E-8pcs F-8pcs G-4pcs H-3pcs J-1pc K-1pc

#5#4Ø38

4 -2pcs 5 -1pc 6 -3pcs

7 -1pc

M8x15 M8x18

25x25

L-1pc M-26pcs N-13pcs O-26pcs

M6x18

#5

Assembly Instruction  89614



1

2

A 8
M6x35

G
4

F 8

E 8

Ø38

x4

M6x18

G

G

G

G

A

E

F

F

E

A

1

2

3

3



3

4

M8

M8x35

D

B 6

6

x4

A 8
M6x35

H 3
25x25

x3

A

A

B

B

D

D

H

H

H

4

4

5

6

6

6



5

6

x2 x2

C
4

M8x15

A 2
M6x35

M

N

O

O
26

N 13

26M

x13

A

C

C

7


	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型




